EARAROBREBRT —5 XN—ZXBISH—F

2021128198 (H) 6EHR6H

/R YA

18O SR EFRFEE

BN R

[AE%] 17%&:7,600,000  ~ 23&:3,000,000 .~ 37:1,900,000 "  43%&:1,100,000 5 3&:760,000

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
3 W REAE :51. -1-1- . . Al ()
LT F—Y 5 zen 1(5_1)9 1-1-1-1 [37.3| 91.5 | 6 ge) K
RiF4—=FAVNT~ B:ST7o1A #Haait /—RelLX
Sy ] KEPIRREL : -10-11- HohfER GE8)
LI UFA R 4 3 s 1(}5,;_59 11-10-11-10| 36.3 | 92.0 | 4 (4+924; 4
RiSTU—=FA B:OAVHAT bakmus
9 B3 | BHIBE 1:51.9 2-2-3-2 [37.0] 92.0 | 2 458 | KEBA (ER)
TILER—O 56.0 ) () |EEHE
RiAWTT—II BRI Iz —) i
© <~ P BHERC : -10-11- NSk ()
2 —T A I T A v 4 L 1.?52).7 9-10-11-10 [ 37.1| 84.5 | 8 zzg)z Ll
RiW—5—YvT B:RIS—TFITAR J—HUTr—L
—_ = P LU= :52. -5-7- . . W GEH)
51111/ @ee2a—3U5 1 [B] v 4 iz 1(15/22)8 5-5-7-5 | 37.4| 83.6 | 10 (4_528) e
RiFA IRV v— B:I7AF LY ST #HE77—LA
S5\~ )T — 4 3 | BEEE 1:53.1 5-3-3-2 [38.2| 80.9 | 3 490 | &R FR
617110 N1STNYY A530 a 3/4) () | BREBHE
RiXAYIVYLYY BIRTAZRILN &N 77— L
g 43 | AVRALC 1:53.1 5-8-7-7 |37.8] 80.6 | 9 498 | tiTREE (R
715|7|FVD A5300 N () |BEREA
R:RI7T« &:)uF—130F Heh #z
S o (O # 4 | BEAN 1:53.3 13-13-5-5 | 38.2| 79.1 | 5 474 | BEREE (RR)
8711774JFT ~ A52.0 (1 1/4) (-2 |EBEE
R:FXF B:FvILYUX KRBUS
w . s I\MER : -12-13- INFE—5B (3E/)
9 9| VIATILTUwY 33 L (11513/45) 12-12-13-13| 37.8 | 77.0 | 13 (4_820) Pz
ROUIA9—2 BROSAHYT— FHh/T7—L
S KEERH : 7= = ZIIE = E )]
108113l @k ADHTIY i 6 S 1.(5({4).1 4-3-7-7 |38.8| 72.6 | 12 (4:5(3 et
RiANWTT—IN 8:9=/HUR MER Y R
< y =~ 4 | ERER 1:54.4 5-5-5-7 |39.3| 70.6 | 7 506 | ZEFE (H)
1 8 YAEVIIT SV g 57.0 (1 3/4) (+4) | ZFEEBIRE
RiFVyvH/FE2F% B:XVITIAY PRIRLS
~, FaMEL 3 -9-2- BT (ER)
1218112 Y% Fv—tJL [B] 4 3 56.0'; 1.(545).1 9-9-2-2 | 40.4] 66.2 | 1 (5:)8(; EITEEQ?
R:NZ—ka1—R B:IRFY /=3I r—I
< o . FEN : -5-7- FEEESE (FR)
13 4| @IIRIVRI—S 33 R 1.(535).6 2-5-7-10 | 40.3| 62.1 | 1 (5_016) BRI
RiLy RZAN—9 B:IIRAIVRILF DIRIVIT7—LA
[ BN
Eh' 49.7-37.3
NOYIA L | 12.6-11.5-13.5-12.4-12.2-12.4-12.4-12.0-12.9
@ 11— —BBIEfI
13—7— 5(4,6)13(1,7,8,10) (2,12)3,9,1
20—F— 5,6(13,10) (4,1,8)7,12(2,3)9,11
Jal=zr= 5,12(6,10) (8,11) (4,1,13,7) (2,3)9
43— — 5(12,6,10) (1,11) (13,7,8) (4,2,3)9
o ILRE
B B 5 1,350 JA R 3-5 1,360M3 & 3-4 5,170 3EE 3-5-6 5,280
g B 5 330 5-6 860MH 5 & 3-5 4,860 3EH 5-3-6 44,830
3 210 3-6 470 =51 5-3 11,090M
6 1604

ABIC OV TRUTEREERRODDZE. THRIIZEL.




